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Important Instructions
for Multiple Choice Question (MCQ)
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® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : III-A
Full Marks : 30 Time : Thirty Minutes
Choose the correct answer.

Each question carries 2 marks.

1. ‘GDP is related to —
(A) Gender Development Index
(B) Global Development Index
(C) Gross Development Index
(D) Gross Domestic Index

51 ‘GDI’ ST FF A0 7T7ifFe —
(A) (TSR (GLSHAATTT ZAGH
(B) AT (TG Z0eH
(C) &9 (BTG 20T
(D) &9 (TITFoS Z0Ts

2. The proponent of Balanced Growth Theory is —
(A) Harvey Leibenstein
(B) Hirschman
(C) Arthur Lewis
(D) Ragner Nurkse

| I TR (e ©gie U] 2o —
(A) TS ARAEEEA
(B) fesoamre
(C) wnefm =2
(D) zola=IE ST
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3. The number of Stages of economic growth as enumerated by Rostow are —
(A) Two
(B) Three
(C) Four
(D) Five

© | FCLR 2R 9N ZTRRE @ SLiafes SHad wAwiE A 2h—
(4) 7%
(B) foafd
(C) v
(D) e

4. Which of the following Stage of Demographic Transition is called ‘Population
Explosion’ stage ?

(A) Stage I

(B) Stage 1

(C) Stage III

(D) Stage II and III

8| TI0NT (I BACE GePiRAN 2RSS I ‘Tl RTFRe B @0 27 2
(A) T 1
(B) &= I
(C) &= 1II

(D) &< I @< I
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5. Two Gap Theory is propounded by —
(A) Ragner Nurkse
(B) Arthur Lewis
(C) Chenery
(D) Gunnar Myrdal

€| (7o J[UT ©F THAYIT F(IT —
(A) = T
(B) i <21
(C) oI
(D) @7 fiFeE

6. ‘GATT’ implies —
(A) Gross Agreement on Tariffs and Trade
(B) Gross Arrangement on Trade and Tariffs
(C) General Arrangement on Tariffs and Trade
(D) General Agreement on Tariffs and Trade

Y| ‘GATT -3 &g 767 —
(A) 2P7 GlETS o BT @IS (e
(B) 2% GG T (G WIS Giifrwy
(C) (SR SHICIAGTIT O BT e (Go

(D) (SICEeT GfetsTs o oifee] @iie (Ge
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7. Two branches of World Bank are —
(A) IBRD and IDA
(B) IDA and IMF
(C) IBRD and IMF
(D) IMF and IFC

a | e JicEs o =T 26 —
(A) =2 7 o7 T @3z =3 f @
(B) =i f& @ @R =g @5 @&
(C) =i 7 =7 & @32 =% @ @
(D) WT aF OF G W12 9F

8. “The number of workers in a factory” is an example of —
(A) Attribute
(B) Continuous variable
(C) Discrete variable

(D) Random variable
b | <GP PIRAAT SRFwm A1 TnizFe’ 2o —
(A) @4
(B) wif<ifoze et
(C) fafbzs wa
(D) o=l bet
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9. ‘Cumulative Frequency Polygon’ is also known as —
(A) Histogram
(B) Frequency Polygon
(C) Line diagram
(D) Ogive
> | AT SARPRAN TGS -G ST G TN 7 —
(A) SITSHe
(B) ~AfPia Tzge
(C) @ifba
(D) w&iZe

10. Geometric mean is defined only when all observations have —
(A) the same sign and none of them is zero
(B) the different signs and none of them is zero
(C) the same sign and different signs and none of them is zero

(D) None of the above

S0 | YTATET T GG AGIS T I AW AN(IHOR AT —
(A) @2 o @R G e (DR X0 77
(B) Rfem oz ¥R @ Ty (@02 *[+ 7
(C) «=2 bz «k Rien ©F ¥R GE &y @02 %= T3
(D) TR (FIabE
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11. Mean deviation about median is —
(A) the highest
(B) the normal
(C) the least

(D) the maximum

SS | S (ACE SEFale e e AR e = —
(A) T
(B) e
(C) “JeTow
(D) ifz=e

12. For a symmetrical distribution —
(A) The degree of asymmetry is positive
(B) The degree of asymmetry is zero
(C) None of the above
(D) All of the above

53| IIEP IO G —
(A) SRR W@ deqee 27
(B) SEifeAIcr i =7 =3
(C) Toitaa @38 7
(D) Tt el
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13. Data relating to two variables are called —
(A) Univariate data
(B) Bivariate data
(C) Multivariate data
(D) None of the above

Yo | @ A 76 5o A TS iR AMOUCE e —
(A) GBI Ao
(B) faverra oLy
(C) I ey
(D) TR (FIAbE

14. Semi-interquartile range is equal to —
(A) @
)

OO
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15. Standard deviation refers to —
(A) Root-Mean-Square-Deviation from mode
(B) Root-Mean-Square-Deviation from median
(C) Root-Mean-Square-Deviation from mean

(D) None of the above

S@ | o 2L T —
(A) FALANGFR A (AT 6T - T -2y
(B) Sl (ACF - 1T -9 - 91127
(C) T (ATF IeT- G -I9(FIF-1LT
(D) TR (FIAbE
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ECONOMICS (General)
Paper Code : III-B
[New Syllabus]
Full Marks : 70 Time : Two Hours Thirty Minutes
The figures in the margin indicate full marks.
Group - A

(Development Economics)

Section - I
Answer any two questions : 10x2=20
1. Discuss the role of foreign aid in economic development. 10

2. Analyse the effects of economic development on growth of population. 10

3. Briefly discuss the complementary relation between agriculture and industry.

10

4. Distinguish between balanced and unbalanced growth theory. 10
Section - 11

Answer any three questions : 5x3=15

5. Write the concept of ‘vicious circle of poverty’. 5

6. What do you mean by capital intensive techniques of production ? 5
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7. Explain the concept of ‘Disguised unemployment’.

8. Write a short note on Malthusian theory of population. 5
9. What are the different forms of foreign capital ? 5
10. What are the major objectives of the IMF ? 5
Group - B
(Elementary Statistics)
Section - I
Answer any two questions : 10x2=20
1. Define and illustrate the following concepts :
(a) Histogram
(b) Cumulative frequency polygon 10
2. (a) Define Mode.
(b) Find the mode of the following frequency distribution :
Class interval : | 50-59 | 60-69 | 70-79 | 80-89 | 90-99
Frequency :| 10 16 14 12 8
2+8
3. (a) What is Quartile Deviation ?
(b) Find out the Quartile Deviation from the following :
x:[10]15]120 (25|30 (35
ril2lsl7]6]1]a 2+8
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4. Why is standard deviation considered better measure of dispersion ? 10

5. Compute standard deviation and mean deviation about mean for the following
data :

Scores  :|4-6 | 7-9 | 10-12 | 13-15 | 16-18 | 19-21 | Total
Frequency :| 4 | 10| 20 | 15 | 8 | 3 | 60 10
Section - II
Answer any three questions : 5x3=15
6. Write a short note on ogive. 5
7. For the two observations, prove that 4Af >GM HM . 5
8. What are the disadvantages of Median ? 5
9. Find the HM. of 1 l,l and l 5
*2°3 4
10. Distinguish between grouped and ungrouped frequency distribution. 5

11. Define standard deviation. Find standard deviation of the numbers 2, 4, 7, 9,
12, 14, 15 with 5, 2, 3, 6, 7, 4, 4 as their respective weights. 5
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(Development Economics)

Section - I
@ (N 7o 240 Ted AlS S0X3=30
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et - 9
(Elementary Statistics)

Section - I

@ (N 7o 240 Ted AlS SOX3=30

S| e Rl 74 Ol @19

ORIESIY
(b) @CAMT 2R T29e | S0

2 (a) FRANSFET A WE |
(b) Tva sl [eretTg Ates T FdF 39 ¢

M E®T 1 | 50-59 | 60-69 | 70-79 | 80-89 | 90-99

dAfray | 10 16 14 12 8
t+=3%0
ol (a) 59LF ALY F 2
(b) fFsfarfie @i et vods ey w77
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T | 46|79 |10-12 |13-15 | 16-18 | 19-21 | Total
st | 4 |10 | 20 | 15 8 3| 60 >0
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Section - II
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